Chemistry 11

Unit II


Unit 2 – Review of Percent Composition, Relative Mass and The Mole
**Remember to include units and proper significant digits!**
1. When 15 grams of iron react with 19 grams of chlorine to produce a compound, what are the percent compositions of each element? 

2.  4.747 grams of Zinc will combine with 1.163 grams of oxygen.  What is the percent composition of zinc oxide? 
3. Suppose you double the amount of zinc and oxygen in question 2.  Predict whether or not the percent composition will remain the same and then calculate the answer to check your prediction.  
4. Sodium chloride is 60.63% chlorine.  If you had 10.00 g of sodium, how many grams of sodium chloride could you make? 
5. A 36 gram sample of iron oxide contains 28 grams of iron.  Another sample of iron oxide weighs 160 grams and contains 112 grams of iron.  Are the two samples the same oxide of iron (prove mathematically)? 
6. List the diatomic molecules without first looking them up!!!

7. In what ways did Avogardo and Gay-Lussac contribute to the ideas we have studied in this unit?  
8. For the following reaction, 4.0 L of butane and 40.0 L of oxygen gas are available to react.

2 butane + 13 oxygen ( 8 carbon dioxide + 10 water vapor

a. Which gas is the limiting reagent?

b. By how much is the other gas in excess? 

c. How much carbon dioxide will be produced? 

d. How much water vapor will be produced? 


9. Why do we refer to the atomic masses as being relative to each other?
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10. An ore consists of 18.7% lead(IV)sulphide.  Lead(IV)Sulphide is 76.4% lead and 23.6% sulphur.  What mass of lead can be produced from 45.0 kilograms of ore? 
11. A container was used to measure the mass of oxygen gas, and an unknown noble gas.  Given the following information for the same volumes of gas: 

Oxygen gas: 124.2 g

Mystery gas: 509.4 g

a. What is the mass ratio?
b. Suggest an identity for the noble gas. 

12. How was the idea of percent composition originally used to develop ideas in chemistry?

13. How many atoms are present in 0.50 mol of uranium hexafloride? 

14. What is the molar mass of:



**Bonus: Name the compounds.

a. PI5



b. K2S




c. C6H12O6


d. HgO




e. CH4

f. Iodine gas


15. How many atoms are in 142 g of calcium?

a) 40

b) 140


c) 6.02 x 1023

d) 2.11 x 1024
16. How many moles in 29g of MgCl2?

a) 95.3

b) 0.30


c) 29


d) 2764

17. How many atoms are present in 100g of copper?

a) 6.02 x 1023
b) 1.57


c) 9.5 x 1023

d) 63.5
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